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Q1

Ans

Section : Part-A-General Intelligence and Reasoning

Which of the following groups of letters when sequentially placed from left to right will complete the given series?

W_XEVYWWE VYWWEEYYVWW_XVVWWEX Y
1. WWXX

2. WXXY
3. WWXY
4. WXWX

Q.2

Ans

1 1.2,3.4.5
2 54321
3. 1.2.3.54
4. 5.4,3.1.2

Q.3

Ans

Six boys Sumit, Gopal, Honey, Ishaan, Jatin and Lalit are sitting around a circular table facing towards the centre.
Ishaan is the third to the left of Sumit. Jatin and Honey are the immediate neighbours of Ishaan. Lalit is to the
immediate right of Jatin. Who is sitting to the immediate left of Ishaan?

+ 1. Honey

2. Jatin
3. Gopal

4. Lalit




Q.4

Ans 1. Lisa
« 2. Mark
3. Quinn
4. Owen
Q.5
Ans 1. 8
2. 4
3.2
4.0
Q.6
Ans
1.
2.
3.




Q7

Ans 11,5432
2. 453,12

v3 45321
45,1432

Q.8
Ans 1.
2.
3.
o 4.
Q.9
Ans 1 % a_n_d _
2. +and +

o 3. »and +

4. x and +




Q.10

Ans

R B

o 4.

Q11 In a certain code language. ‘STAT" is coded as “PPXP’. What is the code for “VOID’ in that code language?
Ans 1. SKGY
« 2. SKFZ
3. SKEZ
4. SIFZ

Q12 If28A49B77C11=-14and30AS0B88C22=-16,then 85A15B40C8=?
Ans 1. 84
¥ 2. 75
3. 70
4. 80D

Q.13

Ans o 1. 50




Q14 1n the following question, select the missing number from the given series.

6,23, 03, 371, 1485, 2
Ans 1. 5000

2. 5930
3. 5980
4. 5940
Q.15
Ans
1.
2.
o 3.
4,
Q.16
Ans 1. 138
2. 127
« 3. 130

4. 147




Q17 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AC, FN.KY. P1.?
Ans 1. MQ
¥ 2 UU
3. UW
4. MR

Q.18  Select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the

second word is related to the first word.
Individual : Group : Partial : Complete : : Vacant: ?

Ans 1. Occupied
2. Free

3. Avwailable
4 Empty

Q.19

Ans s M
2 1
3N
4. P

Q.20

Ans 1. Son
« 2. Husband

3. wife's father
4. Brother

Section : Part-B-General Knowledge and General awareness

Q1 Which of the following Indian states has less sex ratio then combined sex ratio of India, according to 2011 census of
India?
Ans &1 Gujarat
2. Uttarakhand
3. Jharkhand
4. Assam




Which of the following is an example of constitutional bodies in India

Ans 1.
2,
3.
4
Q3
Ans 1. Badminton
2. Vollevball
3. Baseball
4
Q.4
Ans 1. Philippines
2. Mexico
3. India
4. New York
Q35 According to census of India 2011, Least Literate State of India among the given
option is:
Ans 1.
+ 2. Bihar
3. Assam
4,
Q6 The Indian Parliament comprises of the
Ans o 1.
2,
3.
4,
Q7
Ans 1. DDJ.}? I
2. Only II

« 3. Weither I nor II
4. Both I and II




Q.8

What is the central theme of Poshan Pakhwada 2023, organized by the Ministry of Women and Child Development?

Ans 1
2.
3. Women's empowerment in rural areas
& 4
Q.9
Ans o 1.
2,
3. Zakir Hussain
4,
Q.10
Ans 1.
2. Only A
3
4. Only B
Q.11
Ans 1. Tamil Nadu
2. Qrissa
« 3. Kerala
4. Karnataka
Q.12
Ans 1. Only B
2. Only A




Q.13

Ans 1. Eight
2. Two
3. Six
« 4 Four
Q14 Name the famous hockey player after which there is a stadium built in New Delhi.
Ans 1
2.
« 3.
4.
Q.15
Ans & 1. Punjab
2. Bihar
3. Gujarat
4.
Q16 Who is known as the "Father of the Indian Renaissance" and played a pivotal role in the Bengal Renaissance
movement?
Ans 1.
2.
3.
4.
Q.17 The city of was located on Khadir Beyt (also spelled as Bet) in the Rann of Kuich, where there was fresh
water and fertile soil.
Ans 1. Lothal
+ 2. Dholavira
3. Harappa
4.
Q.18
Ans 1.
« 2. Gujarat
3. Maharashtra

4. Haryana




Q19 Which dance form from Karnataka involves large drums hung around the necks of men and is known for its religious

and battle fervour?
Ans 1.

2. Kummi

3. Dandiya
+ 4 Dollu Kunitha

Q.20
Ans 1
2. Hockey
3. Cricket

4. Badminton

Section : Part-C-Elementary Mathematics

Q1

Ans 1. Rs. 4024
2. Rs. 3668

3. Rs. 4124

« 4 Rs. 3816

Q.2

Ans 1. 59.25
+ 2. 60.83

3. 59.75

4. 61.83

Q.3

Ans w1 175
2. 165
3. 155
4. 185

as 0.5+(0.5x0.5)
0.5+0.5)x0.5 ,

‘What is the value of [
Ans 1. 4
2. 0.4
3.0.2
4. 2




Q.5

Ans

2. 89
3. 101
4. 127

Q.6

Ans

1. 28 years
2. 24 years
3. 26 years

« 4. 23 years

Q7

Ans

Dinesh alone can do a work in 96 hours. Dinesh and Rahul together can do the same work in 48 hours. Rahul and Tarun
together can do the same work in 16 hours. In how many hours can Tarun alone do the same work?

1. 28 hours
« 2. 19.2 hours
3. 30 hours

4. 20 hours

Q.8

Ans

After a discount of 28 percent an article is sold for Rs. 1008. What is the marked price of the article?

1. Rs. 1450
+ 2. Rs. 1400
3. Rs. 1305
4. Rs. 1350

Q.9

Ans

A car left 42 minutes early than the scheduled time but in order to reach its destination 210 km away in time, it had to
slow its usual speed by 10 km/hr. What is the usual speed of the car?

1. 50 knvhr
« 2. 60 kimv'hr
3. 40 kim/hr
4. 30 km/hr

Q.10

Ans

1. Rs. 7854
2. Rs. 7216
+ 3. Rs. 7584
4. Rs. 68106




Q.11

Ans

If P percent of P is 225, then what is the value of pZo

1..20050
2. 20500
« 3. 22500
4. 22550

Q.12

Ans

1. 30 litre
2. 20 litre
« 3. 40 litre
4. 10 litre

Q.13

Ans

Wl

Q.14

Ans

If an article is sold at a loss of 20 percent, then what is the respective ratio of cost price and selling price of the article?
1.7:4
2.4:5
3 5:4
4. 7:8

Q.15

Ans

22 men can make a wall in 2 days. How many men are required to complete the same work in half a day?
1. 72
+ 2 88
3. 90
4. 80

Q.16

Ans

If 4T = 5U, then what is the value of (T - U)/T?

v 1 9/5
2. 4/9
3. 5/4
4. 7/4

Q17

Ans

What isthe valueof 13 x 12+ 12 % 11 - 14 % [5-9 % 3+ 19 % |57
1. 346
2. 146

3. 246
4. 546




Q.18
Ans 1. 4cm
2. 12 cm
3. 6cm
« 4 8cm
Q19 A certain sum of money becomes 3.5 times of itself in 14 vears at a rate of simple interest. In 28 years, that amount it
will become how many times of itself at the same rate of simple interest?
Ans 1. 8
2. 4
3 6
4. 10
Q.20
Ans 11941
2. 1935
3. 1930
4. 1825
Q1 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
I am sure my mother has something that you shall wear in the evening.
Ans 1. No error
2
3. has something that vou
4.
Q.2
Ans 1.
2.
3.
4.




Q.3

Ans 1. No error
2.
3.
4.
Q4
Ans o 1.
2. (Certain
3. Credible
4. Direct
Q.5
Ans 1. Stall
2. Standstill
3. Detain
« 4. Unbind
Q.6
Ans 1.
2.
3. To choose wisely
4.
Q7
Ans 1. Nearby
2.
3.

4. Huge




Q.8

Choose the option which is antonym of (opposite of) the word "frugal" in the sentence given below:

Her generous donation to the charity made a significant impact on the lives of those in need.

Ans 1. generous
2. impact
3. charity
4,
Q9 Select the sentence with no spelling errors.
Ans 1.
2,
3.
4,
Q.10
Ans 1
2. monotonous
3. tranquil
& 4
Q.11
Ans 1.
2. No error
3.
4,
Q.12
Ans

« 1. will not get
2
3. gets not

4. gotten




Q.13

Ans 1

Q.14

Ans 1. patient

2. ¢conscious
3. after
« 4. surgary

Q.15

Ans 1.

Comprehension:

SubQuestion No : 16
Q.16

Ans 1. line
o 2. era
3. saga

4. spell




Comprehension:

SubQuestion No : 17
Q.17

Ans 1. chasers

" 2. workers
3. bosses

4. personal

Comprehension:

SubQuestion No : 18
Q.18

Ans 1. Who

2. whom

3. whose
+ 4. that

Comprehension:

SubQuestion No : 19
Q.19

Ans 1

« 2. improving
3.

4.




Comprehension:

SubQuestion No : 20
Q.20

Ans & 1. intend
2. pose

3. pretend

4. enact

Ry g aeg ¥ 3fd e Wes &1 70 B Rad @i @1 ufd Sifsm

ARG SIPIT A g

Ans 1 W

v 2. 1]dld
3. |l

4. IAATH
** Ru g # 3R Se-facre Sse 9 e Rad i @1 g S

A f&ar =1 1| gt A% gl 15 g
Ans 1 %
72 B
s A
4. 1;ﬂa

** e e a1en H 3fd TaigaT Wsg o1 999 e Rad I &1 O B

@rg) o 3o 0d gal b 9ad &1 gdi sl 4 9|
Ans 1. 'J-nTI

2. Ej:@

CIGE

4. @Eﬁ




Q.4

Ans

T 71T ereg &1 TUTIE=T AT HferT]

CECory
1. FETToT
2. AT

4. HI9dT

Q.5

Ans

FEfIREd areg # ¥@ifed HR & [T U T1de Wsg J1d Hiford |

Q.6

Ans

feu T fasped! # 9 i fadheq Ffcgard &, Safd U Ul o1 39 Hel [ddhed Pl 9g DY
1. 2P TR ATBI R &
2. U AN AP R B

v 3 HUHR ANT ATHR W B
4 Dy AN GBI R G|

Q.7

Ans

frrafofda T #, 30 e #1 g S sefeat § afy # o 7 & @ e I A
w1 T FT|

FTsT Saw & o 7 o 3w R o arewer # 77 e A e wear F aw 3w fow e
HEFeTHAT 8T & % gl

g e G E

2 AT Sa & v § o ag fosel o srewr A
v foe el smamsar AT & TE ¥

4. TE HIHT FE X Hepal T 7T 38F

Q.8

Ans

f&U U a1 H1 a8 HFT F1d H3, f5/9 &ig (e 2|

forgas! ATt S9e 1Y arell dHerad aard gidl g
" gl B
2. ﬁlﬂaﬁw
3. Helad aRar

v 4 3Y T gt




Q.9

Ans

f&U T are H Y@ifdhd 2eg &1 faaiA Xse I1d SIS

Y& AU fead g
I PR

2 1R
v 5 3fibYd
4. AIETG

Q.10

Ans

fafafad oy &, IR Aol # 9, 39 ULl fAded &1 909 &3 O Il & T U eg &1 faded 7l
Sl el S 9 U1 8

v o
2. 3ffqHad
. offaiea
4. 3ffquUTeg

Q.11

Ans

fa=faeT vea &, 91X Reeal # ¥, 37 F5eT & 999 #{ 3 FraF & U 717 96 & FaH o
FT Her T T 1
H 39 T &1 Ot @ S ofr (3Ed) &l gl

B Er

2 HTEd

3.3-11@7\"

v 4 TR

Q.12

Ans

T 937 &, 97 BFedt F ¥, 37 FoeT 1 997 &1 31 & 72 Sefag & F58y 7Y Jrer T 2
I AY A w=eT A8 femar

1. gEY #r Fg F T HR 3o 3us
2 I AT W HUA T[S FL Ao i

v 3 39T R0 e F1| J@r gar
4 TE A FT FIA-HIA gF H ATT e

Q.13

Ans

Frafefad uy 8, U T 9r fased § 9, 39 [§hed &1 987 ¢ 9 3T 0 etk & off &) 9d98 U § e
Sl g

CIUERCNE]]
1. gy ¢l

2. glY Pl
v 3 HG Gal
4 T AT




Q.14

Ans

T 71T I F [@iferg e & T T8r a3« 719 Hfer|

HTT IidehTel ST
1. UTd BIo:
2. YT
S IREA]

« 4 Hld:hldd

Q.15

Ans

Tfog 99T #, 91 [Feal & ¥, 37 T8 %9 &1 994 F{ 7 aFn & B vF e F1 fwey
Gl
HAT e ¥ @ I

I TEEE
2. aqmw
3. HeATaeT

v 4 gHEe

Q.16

Ans

Comprehension:

A Rr e AFc o Rr iR s R m F M RFr Rr w1 s@ o &
¥ Fia @1 e Reg T $ i3 FEm-

aRaT FleueE # WeR F wieetar & (1) TF AT & (2) F T # Brar & samn
T g1 e a9 a7 § F e 7 Tagvar & Jeug Wi 9 & Heww & & T WEE F gUH

(3) g &) o T T AT FT gEE ARG (4) F AT & v & far o an
AT BT F HFER FET FAATeRRT F gdenfAe yHE Useafd 29T §1 oAy wfeua F FEr
T T TTIUTH T F (5) 19 TS 1946 &1 faar wam oM

SubQuestion No : 16

f¥er 19 ToTT T Iugdd fdded &1 994 HifY|
1. ggHe
v 2 S

SECEIIT]
4 T




Q17

Ans

Q.18

Ans

Comprehension:

A T a1v e # Fo o o1 fow v € Ak 9w Rem e & 9 Reew o oae € g At A
¥ Hia 7 Ry Rea wue #r 9fF -

aaT gfaus # R F wfEwE & (1) T AR F (2) F ¥ ¥ foraw ¥ samn
T ¥ TR A 7E ¥ & v F woavar & weung SRR @ & weww A 3w i due & guH
(3) g | 3T H FEUF T F AT SRAT (4) F AT & e & frar @ o
HIT BT & 3T HET FHIAUoRT &1 Hauifae THE Tseula il ¢ HaT S & @A
I Il FIGUTT T F (5) 19 S[aTs 1946 &t f3am mam o)
SubQuestion No : 17
R 2 forT 9ed Iugad fahed &1 994 FIf |

gy

v 2 DRI

3 qRIBRUT

4.Eﬂajjﬂa
Comprehension:
A T 7T em # o weg o Rr v § AR v@F Rem v F R oo Rr aw 1 @ A &
T Fia 7 e g we & gfd Foem-
aaT ofauas # R F wfEwtE & (1) T AR F (2) F ¥ # oraw ¥ samn
T g1 e A a7 & F 2o B TodEar & geIg afeuns @an F "eEw & Sur fr mue F guw
(3) 3 | 3 H FEUF T F AT SRAT (4) F AT & e & frar @ o
AT BT F HGER FET FIAITORRT T Tl YW Tseuia idT ¢l 9RaT S &7 AT
F TTel WU FHT T (5) 19 Sems 1946 @t f3am a2 =
SubQuestion No : 18
Rt 3 & foT 9ed Iugad fadhed &1 994 S|

. gd
v 2. day

3 JHTaRITT

4 Tfgy™




Comprehension:

A T a1v e # Fo o o1 fow v € Ak 9w Rem e & 9 Reew o oae € g At A
¥ Hia 7 Ry Rea wue #r 9fF -

AR YT # @R & H#faiEt F (1) T AT F (2) F ¥ ¥ forar @ Famar
I g1 R A a7 & F e B Toa9ar & 9eag WU 3 & UeEw &7 &ur Y §ueE ¥ yuH

(3) T | U Fr FTIUH T FT AT AT (4) F AT & e & frar @ o
AT YT ¥ AR FET FEAOE F dduiae 9AE Ty @iaT ¥ SRGT SR & @
I Il FIGUTT T F (5) 19 S[aTs 1946 &t f3am mam o)

SubQuestion No : 19

P a4 fow a8 Sugad faseq o1 9gF Sl

SN S
2. UHE
v 5 gy
4 TR

Comprehension:

AaRr g AFc oo Ru iR TFr R F R e Rr v g sa s &
T Fia 7 e g we & gfd Foem-

AT @Y # TR & #feeiE F (1) T AT & (2) F ¥ ¥ Trar ¥ g
I E1 T G I8 § ©F 2 fr Toaaar F 99T A §ET & WeET &7 & T "uS ¥ guH

(3) 4 | S Fr FTAUH T FT AT AT (4) F AT & e & frar T3 o
AT YT ¥ HTER AT FEOOE F GduEe 5T TS 2T 2 ST R @ RE
e Tl TieTeT FeIT & (5) 19 SJem$ 1946 T f3Ham mam o)

SubQuestion No : 20

2 Ry s & g G Sugad s &1 99 ST
avs oo T

2. UHe

5 SIS

. TS






